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Vi du: tim i(t), 50 Step Response of an RC Circuit

When the de source of an RC circuit is suddenly applied. the voltage
or current source can be modeled as a step function. and the response
o is known as a step response.
‘73 ' The step response of a circuit is its behavior when the excitation is the

(l; i' ) step function, which may be a voltage or a current source.
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Step Response of an RC Circuit Step Response of an RC Circuit
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Step Response of an RL Circuit Step Response of an RL Circuit
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SECOND-ORDER CIRCUITS

The Source-Free Series RLC Circuit
R

SECOND-ORDER CIRCUITS
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The Source-Free Parallel RLC Circuit
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Cac budc giai:
. Biéu di&n ngudn kich thich dudi dang chudi Fourier ndi tiép
. Bién d&i mach tir mién thoi gian sang mién tan s6
. Tim dép ng cla céc thanh phan DC va AC trong chudi Fourier ndi tiép
. Giai mach véi cac thanh phan Dc va AC sau d6 xép chéng két qua lai véi nhau
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PHAN TiCH MACH TRONG MIEN TAN SO

Cac budc giai:

1. Biéu dién ngudn kich thich dudi dang chudi Fourier néi tiép

2. Bién d6i mach tir mién th&i gian sang mién tan s

3. Tim ddp (ng clia cac thanh phan DC va AC trong chudi Fourier ndi tiép

4. Giai mach vdi cac thanh phan Dc va AC sau d6 x&p chdng két qua lai v&i nhau
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